2_{a) On the diagram that vou created, with arvows that stan at higher energy levels and end at lower
cncrgy levels, are the photons
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(h) Add o m}'ﬂii am or your printout [Circle to indicate which] an arrow that shows an clectron
changing levels l:say between levels 2 and 4) when a photon s absorbed.

(c} What encrgy does the absorbed photon have't
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{d} How does that absorbed energy compare 1o the energy of a photon emitied when the electron
moves from 2 - 47
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(e} If a photon starts at level 2 and absorbs a 5 eV phoion, what energy does it end up with? Where
dhives it end up?
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(f) If a photon starts at level 2 and absorbs a photon with exactly 2.70 ¢V, what energy does it end up
with? Where does it end up?
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